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Question Shuffling Allowed : Yes

Question Number : 1 Question Id : 99836718103 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25
From the given alternatives, select the word which CAMNINOT be formed usirg the letters of the Ziverl wiord,

STROMING
Options:

1. ¥ GRIN
2. % MIST
3. ¥ RIGE

4. % RINS

Question Number : 1 Question Id : 99836718103 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25
Terr oy Tt § € 9 Seg A0 ST 0 T sTeg o araR T WA S el a7 G gl

STRCMING
Options:

1. ® GRIM
= % MIST
3. ¥ RIGE
4. % RINS

Question Number : 2 Question Id : 99836718104 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25
In the following question, select the odd word pair from the given alternatives.

Options:

1. % Colour - Red

2. % Season - Surnrmer
2. % Weapon - Sword
4 % Car - Vehicle

Question Number : 2 Question Id : 99836718104 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25
T ng # fou mo feeu! # & fowm geg gm #1 g

Options:
1. % @a7-aa
2. % =g - i

% % AR - e



4. ¥ T - dTgA

Question Number : 3 Question Id : 99836718105 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25
Ir1 the fOllDWiﬂg questiorn, select the odd letter [letters from the Ziven alternatives,

Options:

1. ¥ TWE]
2. % KMNSZ
= % EE]Q
4 % JLOX

Question Number : 3 Question Id : 99836718105 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25
TraferaT wa o o my et # & Tuy arye) arert @& gim

Options:

1. ¥ TWE]
2. % KINSZ
2. % EBE]Q
4 % JLO¥

Question Number : 4 Question Id : 99836718106 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25
In the fOllOV-.?iﬂg qQuestion, select the related letters from the given alternatives.

N JE:PM:7
Options:

1. % KR

2. % NP

3. ¥ LR

4. % MO

Question Number : 4 Question Id : 99836718106 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25
T wg # o my Hewedt o & Heted el w1 giam

WNE:JB P 7
Options:

1. % KR

2. % NP

Z. ¥ LR

4 % MO

Question Number : 5 Question Id : 99836718107 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 WrongMarks: 0.25
In a certain code language, WORDS' is written as "ASWVHW . What is the code for 'FRITE' in that code language?



Options:

1. % KWIY]
= W TVMEI
3% LHOZK
4. % JWhEI

Question Number : 5 Question Id : 99836718107 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25
T AT FE 9T H WORDS #TASVHW WRITIET 8 S0 FIE 9T H FRITE FT IS FA757

Options:

1. % FKWDY]
2 ¥ WMEI
2% LHOZIK
4. % 'WhiXI

Question Number : 6 Question Id : 99836718108 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25

In a certain code language, ‘FRIDGE' is written as TOLAJE'. What is the code for 'ROEBERT' in that code
language?

Options:

1. % VNFCVER
2. % ULECUC
2. % VMFCVER

4. % 1JLEBUZ

Question Number : 6 Question Id : 99836718108 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25
U &E wE v #, FRIDGE &1 IOLAJE Far A@T 81 569 i ¥mT # ‘ROBERT’ &7 ®IE 74T 57

Options:

1. % VMNFCVE
2. % ULECUZ
2. % VMFCVE

4. ¥ TJLEBUZ

Question Number : 7 Question Id : 99836718109 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25

Five toys &4, B, C, D' and E are arranged according to their weight in ascending order from left to right not
necessarily il the same order). Weight of D is less than only three toys. Weight of C is not the maximurm.
Weight of A is less than D. Weight of B is less than C. Weight of how many toys is more than the weight of E?

Options:
1. % 2
2. % 3
2% 1
4 ¥ 0



Question Number : 7 Question Id : 99836718109 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25
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Options:

1. % 2

A

%1

4 9 0

Question Number : 8 Question Id : 99836718110 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25

In the following question below are given some staternents followed by some conclusions based on those
staternents. Taking the given statements to be true even if they seern to be at variance from commonly knowrl
facts. Read all the conclusions and then decide which of the given conclusion logically follows the given
Staternents.

Statements:
[. All rat are wood,
II. Mo rat is ball.

Corclusions:

[. Mo ball is wood.,

II. Some wood are ball.
III. Al wood are rat.

Options:

1. % Only conclusion I follows.

2. % Both conclusion [T and III follows.
2. % Both conclusion I and III follows.

4 % No conclusion follows.

Question Number : 8 Question Id : 99836718110 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25
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Question Number : 9 Question Id : 99836718111 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25
In the following questiorn, select the missing number from the givern series.

13, 35, 101, 299, 895, 7
Options:

1. % 2719

2. % 2571

=% 2413

4 ¥ 2675

Question Number : 9 Question Id : 99836718111 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25

Toafea weg o 1 e e # 9 oF afw S H
13, 25, 101, 299, 893, 7

Options:

1. % 2719

2. % 2571

3% 2413

4. ¥ 2675

Question Number : 10 Question Id : 99836718112 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25
In the following question, select the related number from the given alternatives.

41787
Options:
1. ¥ E5
2. % g3
3% 75
4 % 59

Question Number : 10 Question Id : 99836718112 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25
TrafeiET ng § for Ty et § & deidT d@ear @ giam

4:17 8.7
Options:
1. ¥ E5
2. % B3
3% 75
4 % 59

Question Number : 11 Question Id : 99836718113 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25



Ev interchanging which two signs the equation will be correct?

16 -7+2+1d =6 =21
Options:

1. % -and x

2. % +and +

3 ¥ xand +

4 % - and =

Question Number : 11 Question Id : 99836718113 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25
Tor o1 gl T S0 H UREUE Saete U SHIE TRl 5T AT

I6-74+2+1dx6=21
Options:

1. % - 99

L B S i

3V T+

4 ® - FUT x

Question Number : 12 Question Id : 99836718114 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25
Ev interchanging the given two signs which of the following equation will e correct?

-and =
Options:
1. ¥V 2+4x9-2=-11
2 % 134+14xB-5=23
3.®¥E5-24+Ex2=-11
4 #E-7x3+4=234

Question Number : 12 Question Id : 99836718114 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25
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=TT =
Options:
1. ¥ 2+4x3-2=-11

2 % 13+14x6-5=3
2 ®5-34+46x2=-11
4 ®5-7x3+4=34

Question Number : 13 Question Id : 99836718115 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25



In the following question, select the number which can be placed at the sign of question mark (7) from the
Ziverl alternatives.

6 5
9 2
2 16 |11
300727

Options:

1. % 71

e

3 % g3

4. % 49

Question Number : 13 Question Id : 99836718115 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25
TraferaT na 8 for my et # & weg v (7) 3F S99 U oI TR ST w g

6 5
9 2
2 16 |11
300727

Options:

1. % 71

e

3 % g3

4. % 49

Question Number : 14 Question Id : 99836718116 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25

If '+ means "=, '~ means ‘=, "x means '+ and '~ means - then 186 x 94+ 39-12 -2 =7
Options:

1. % 43

2 % 41

3.9 40

4 % 38

Question Number : 14 Question Id : 99836718116 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25

T+ FTapf o, FTaE s, w4 e s el S L AT1E x 94+ 39-13 23 =7
Options:

1. % 43

2. % 41



3. ¥ 40
4 # 35

Question Number : 15 Question Id : 99836718117 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25
Identify the diagrarn that best represents the relationship among the given classes.

Rat, Lion, Goat

Options:
|©

Q0O
2l 4 O
5%

©o0

Question Number : 15 Question Id : 99836718117 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25
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Options:

QO
O

o
®




©o0

Question Number : 16 Question Id : 99836718118 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25
what will come opposite to face containing A7

P @
Options:
1. % ¢
o VF
3 ®E
4 %D

o
®

Question Number : 16 Question Id : 99836718118 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25
A T TeTeh o TelUT T STTET?
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Options:
1. % ¢
o VF
3 % B
4 %D

Question Number : 17 Question Id : 99836718119 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25



Three views of a cube are shown below
A B 5

what can come in place of the two 727

Options:
1. ¥ PandK
o % Pand M

2 ¥ rand K
4 ® Pand o

Question Number : 17 Question Id : 99836718119 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25
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Options:
1. % pPauaTK
o B P

2 @ UK
4 ¥ paaro

Question Number : 18 Question Id : 99836718120 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25



In the following question, select the figure which can be placed at the sign of question mark () from the given
alternatives.

of (m o
o av ? alal | |aPalo

Options:

000

000

olala

000

Question Number : 18 Question Id : 99836718120 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25
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Options:

000

000

ra
®

ol

t
i



(alefa
# 10

Question Number : 19 Question Id : 99836718121 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25
In the following question, select the figure which can be placed at the sign of question mark () from the given
alternatives.

< #| |@ <l |# @ =
@ =|[# c°el|©& -+ ofe
Options:
@ <
-
v L# .
@ <
> & ok
o @
s % L# -+
B @
4 % © _*

Question Number : 19 Question Id : 99836718121 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25
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Options:
@ <
N
;v L# .




@ <
2 % & ok
o @
su <
# @
4 % o =

Question Number : 20 Question Id : 99836718122 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25
Which answer figure will complete the pattern in the question figure?

Options:

a

A =

1
i

of

Question Number : 20 Question Id : 99836718122 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25
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Options:

s

ereral Awarensss

Group Number : 2
Group Id: 998367641
Group Maximum Duration : 0
Group Minimum Duration : 0
Revisit allowed for view? : No
Revisit allowed for edit? : No
Break time: 0
Group Marks: 20
Revisit allowed for group Instructions? : Yes
Maximum Instruction Time: 0
Minimum Instruction Time: 0

General Awarerness

Section Id : 998367762
Section Number : 1

Section type: Online
Mandatory or Optional: Mandatory
Number of Questions; 20

Number of Questionsto be attempted: 20



Section Marks: 20

Display Number Panel: Yes

Group All Questions: No
Sub-Section Number: 1
Sub-Section 1d: 998367972
Question Shuffling Allowed : Yes

Question Number : 21 Question Id : 99836718123 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25
ol Gumbaz dome 1s situated in which state?

Options:

1. # Tarral Madu
= ¥ Karnatala
2. % Rajasthan

4. % Jarmrru and Kashrmir

Question Number : 21 Question Id : 99836718123 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25
TIH TG, TJas, e e | 2 27
Options:

1. % Fiterg

2 ¥ Flcw

3. ® T

4 % Sy ofK wa

Question Number : 22 Question Id : 99836718124 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25
______ 15 a noted Kuchipudi and Eharatnatyam dancer from Ahmedabad.

Options:

1. # Pandit Birju Mahara]
Z % Shovana Naravar
2. ¥ Mallika Sarabhai

4. % Sonal Pakvasa

Question Number : 22 Question Id : 99836718124 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25
______ HEACTETE, & U Withkg Freigel 3T da-Tedy 9a F ol

Options:

1. % gizq TR AR
2. % STeET AT

=, ¥ AieosT G
4, % FiAA TETET



Question Number : 23 Question Id : 99836718125 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25

Chapchar Kut is a festival of State.

Options:

1. % Rajasthan
2. ¥ Mizorarm
3. % Karnatalka

4 % (Orissa

Question Number : 23 Question Id : 99836718125 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25
A= FT ______ Ty & AR 3l
Options:

1. % e

2 e

2 ® gdizw

4, % =T

Question Number : 24 Question Id : 99836718126 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25
Wwhat is the full form of M5F?

Options:

1. % Maxirmum Support Price
2. ¥ Minirmum Support Price
3. % Minimurn Supply Price

4. # Maxirmun Supply Price

Question Number : 24 Question Id : 99836718126 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25
MSP T SHETEH ¥ &7 27

Options:

1. % Aferems quie mEg

= ¥ THHAY 9uic uEd

2 ® i grET e

4. % HferqAn qraATe WE

Question Number : 25 Question Id : 99836718127 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25
In Interim Budget 2019-20, government announced creation of which new departrnent?

Options:

1. % Livestock
2. % Poultry
3. ¥ Fisheries

4 % Pollution control



Question Number : 25 Question Id : 99836718127 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25
TR T 2019-20 #, T = Tope A7 T2amT & =i & e &7

Options:

1. % gaerd

2 % g

3. ¥ AT T
4, % ygmur fEm

Question Number : 26 Question Id : 99836718128 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25

Alr moves from ______ region to ______ regicn.
Options:

1. # low pressure, high pressure

2. % high speed, low speed

2. ¥ high pressure, low pressure

4. ¥ low speed, high speed

Question Number : 26 Question Id : 99836718128 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25
ag BE______ BT I e T B
Options:

1. ® FH W, I I

2. % IR, FH

3. ¥ I aE TR aE

4, % FHUE, PO

Question Number : 27 Question Id : 99836718129 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25
I11 a neutralisaticon reaction, heat is

Options:
1. ¥ ghsorbed
2. ¥ produced

= % neither absorbed nor produced

4. % first absorbed then produced

Question Number : 27 Question Id : 99836718129 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25
T TAmTa mid feraT |, AT

Options:
1. % aEaiitg

= W FouTied
= ® 7T ST AT ar o



4, % Ugel SENT T FeuTiad

Question Number : 28 Question Id : 99836718130 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25

501l 15 widely used in bricks used in house Construction.
Options:

1. ¥ Laterite soil

2. % Sandy soil
2. % Mountain soil

4 % Vallowr s0il

Question Number : 28 Question Id : 99836718130 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25
TSt @t s & & u7 % Fair & Fuei o A St St H SEd e T ST B
Options:

1. ¢ @ gar

Question Number : 29 Question Id : 99836718131 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25
The rhythmic rise and fall of ocean water twice in a day is called a .

Options:
1. % Hurricane

2. % Taaye
= ¥ Tide

4. % Cyclone

Question Number : 29 Question Id : 99836718131 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25

e T # S 9% 90 & U 6 Teg kg A1) TRIET & ____ T AT 8
Options:

1. % e

2. % T

3. ¥ =

4. % TwarT

Question Number : 30 Question Id : 99836718132 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25
Marncha Barwa, 1s a peal of which Himalayas?

Options:
1. ® Kashrrir Himalayas

2. % Nepal Himalayas



2. % Sikkimn Hirmalayas

4 % Arunachal Himalavas

Question Number : 30 Question Id : 99836718132 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25
TR aa o TeATer @ T 27

Options:

1. % Tadi TEATeT
2. % T EAm

= ¥ fTaiyw Tae
4, & EEA BHET

Question Number : 31 Question Id : 99836718133 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25
Trandi March’ tocl: place il which vear?

Options:

1. % 1928
2 ¥ 1930
3. % 1935
4 % 1934

Question Number : 31 Question Id : 99836718133 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25
e AT e ad # gem

Options:

1. % 1928

2 ¥ 1920

3. % 1935

4. % 1934

Question Number : 32 Question Id : 99836718134 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25
Who wrote Rarmcharitrranas?

Options:

1. ¥ Tulsidas
= % Surdas

3. * Kabir

4. ® valmild

Question Number : 32 Question Id : 99836718134 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25
TR AT fepea ferdt?
Options:

1. & gadige



2. % gE
z % g
4 ® gredifs

Question Number : 33 Question Id : 99836718135 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25
What was the original name of Lord Buddha?

Options:

1. ® Mahavira

2. % Rishabhanatha

2. ¥ Siddhartha Gautama
4. % Ashoka

Question Number : 33 Question Id : 99836718135 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25
AT g, T A ATH T 417
Options:

1. % mErEw

2, % FE

3. gl Maw

4 & araiieRT

Question Number : 34 Question Id : 99836718136 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25
Which day was observed as "World No Tobacco Day’ day in 201397

Options:

1. ¥ 321 May
= % 29 April
3. % 1 May
4. % & March

Question Number : 34 Question Id : 99836718136 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25
T ATTe, 2019 # ‘avs AT Sledwt 2 & w9 § 5T 79T 477

Options:

1.v 310
o % 29 e
3 %1

4 % g A

Question Number : 35 Question Id : 99836718137 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25



Wwho among the following is a Mobel Prize winner in 20187

I. Denis Mukwege Mukengere
II. Madia Murad

Options:

1. % cnlyl

> ® only 11

2. ¥ Both I and 11
4. % Neither I nor 1

Question Number : 35 Question Id : 99836718137 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25
FafmET # 4 &9 2018 # Aed [Wewr foaar g7

I 2
II. mﬂﬁjﬂ%ﬂﬁ%

Options:
1. % Faal

= % FEeil
= & 1 TuTll =t
4 % qUarlAraril

Question Number : 36 Question Id : 99836718138 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25
Which part of Indian constitution deals with the citizenship?

Options:
1911
2 %11
3. %V
4 %y

Question Number : 36 Question Id : 99836718138 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25
T 1 FITET T F I T HAT AT & Fared 57

Options:
1911
2. % I
3 %IV
4. %y

Question Number : 37 Question Id : 99836718139 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25
India’s Constitution was fOI‘I'ﬂElll‘}.F created by ____.

Options:
1. % Eritish Gowvernmernt

2. % Prowvincial Government



2. ¥ Constituent Assermbly

4 % Indian Government

Question Number : 37 Question Id : 99836718139 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25

TCT T GIcheTT ST &0 & ____ ST a7 77 £
Options:

1. ¥ Bieawaw

2. ® O W

3. o i T

4, ® AT TWRIH

Question Number : 38 Question Id : 99836718140 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25
Who can promulgate an ordinance?

Options:

1. ¥ Fresident

= % Prime Minister
3. ® Chief Minister

4 % Home Minister

Question Number : 38 Question Id : 99836718140 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25
T EATES T WK HE AT 57

Options:

1. % euid
2. % M AT
3. % gt
4, % 1EAEEt

Question Number : 39 Question Id : 99836718141 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25
what was the prize money for [IPL 2019 winner?

Options:

1. ®# Rs. 15 crore
= % Rs. 20 crore
3. ® Rs. 11 Crore
4 % Rs 125 crore

Question Number : 39 Question Id : 99836718141 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25

IPL 2019 3 faeiar & oy qeeam o o o7
Options:

1. % 1c e o



2. ¥ 20 TE T
3 % 11 Wi e
4 % 125 g =

Question Number : 40 Question Id : 99836718142 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25
Fankaj Advani won asian Champicnship 2019

Options:

1. ¥ Snooker
2. % Hockey
2. ® Football

4. % Wrestling

Question Number : 40 Question Id : 99836718142 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25
T ATEaT + T ZfreTdT 2019 =Eh

Options:

1. & e

2 % gTepr

3= W‘Iﬁ”

4 % gt

Arithrnetic Ability

Group Number : 3

Group Id: 998367642

Group Maximum Duration : 0

Group Minimum Duration : 0

Revisit allowed for view? : No

Revisit allowed for edit?: No

Break time: 0

Group Marks: 20

Revisit allowed for group Instructions? : Yes

Maximum Instruction Time: 0

Minimum Instruction Time: 0

Arithrmetic Ability

Section Id : 998367763
Section Number : 1
Section type: Online
Mandatory or Optional: Mandatory
Number of Questions: 20
Number of Questionsto be attempted: 20
Section Marks: 20
Display Number Panel: Yes

Group All Questions: No



Sub-Section Number: 1
Sub-Section 1d: 998367973
Question Shuffling Allowed : Yes

Question Number : 41 Question Id : 99836718143 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25

What is the value of: 3+ 3

lh_

1
14—
3

Options:

1. % 4
51

> o 13

Question Number : 41 Question Id : 99836718143 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25

3

3*’—1 3 H A T

1+—

Options:
1. % 4
51

o of 13

W
#

Question Number : 42 Question Id : 99836718144 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25



3
What is the value of: {492 +E X s

2 5

Options:

~1 | Ui

4. % 49

Question Number : 42 Question Id : 99836718144 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25

49% 35 2
S T AT FT 82

Options:

~1 | LA

], -

M2
4
o | &

d
®
=] | K2

4. % 49

Question Number : 43 Question Id : 99836718145 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25

6}{'!'4- )'(215-'-1 x35x+l x 5

If e =108 then, what is the value of X?
KoL

Options:
1. % 2
z ¥ 1
3% 0
4 % 3

Question Number : 43 Question Id : 99836718145 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25



65 5 21" 355« 5

1[:34‘2- ¥ *'J.IX+3

afe

=108 T x T AT FT g7

Options:
1. %2
2 ¥ 1
2. %0
4 % 3

Question Number : 44 Question Id : 99836718146 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25

The selling price of an article is Bs. 1190, If the discount percentage is 15 percent, then what is the marked
price of the article?

Options:

1. ® Rs. 1650
Z % Rs. 1500
3. ¥ Rs. 1400
4. % Rs 1350

Question Number : 44 Question Id : 99836718146 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25

T T 1 Towd Ord 1190 20 81 A7 e Uidad 15 Ui g, 77 aeq, #7 Slied Qo T4 57
Options:

1. % 1650 704

2. % 1500 ¥

3. ¥ 1400 7

4 ® 1350 %0

Question Number : 45 Question Id : 99836718147 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25

The marked price of an article is 8/5th of its cost price and the selling price is 2/ 4th of marked price. What is
the profit | 10ss percentage?

Options:

1. % 12.5 percent loss

= % 18686 percent profit
3. ¥ 20 percent profit

4. % 10 percent loss

Question Number : 45 Question Id : 99836718147 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25

T S 1 i Hed Jed d §pd &1 55 § T2 o Brg Sifthd 8rd & 3 4 g1 #) §Ti &1 Wid o a7 57
Options:

1. % 125 gidad g1

= ® 15 66 uidad AT




2. ¥ 20 uidaT &
4. % 10 ufdeT g

Question Number : 46 Question Id : 99836718148 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25

The length of a rectangle is decreases by 40 percent. By how rmuch percent its breadth should be increased so
that the area of rectangle remains the same?

Options:

1. ¥ B0 percent

= ¥ BE.BE percent
3. % 40 percent

4. % BE percent

Question Number : 46 Question Id : 99836718148 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25
U T 1 AaTs @1 40 Wi & 92/ 2T 51 Sed! ST & [ha- Nidad o S5 T7 AT FF T &7 3% G0 157

Options:

1. % g0 nidem

2. ¥ G666 NideT
3. ® 40 UidaT

4. % g5 OideT

Question Number : 47 Question Id : 99836718149 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25

The population of city increases by 15 percent per yvear. What will be the total percentage increase in
population after 2 years?

Options:

1. ¥ 35 percent

= % 20 percent

3. % 3225 percent

4. % 23 3E percent

Question Number : 47 Question Id : 99836718149 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25
T AET @ AT Uid @y 15 Wi e | 9918 a1 21 1 a9 Wald —-eedr § §dl [ed- Ui ad &1 Jhg s

Options:
1. % 35 ufdaT

o % ool
3 & 32 25 uldad
4 # 33 35 gideT

Question Number : 48 Question Id : 99836718150 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25



There are 2 subjects in an exam and maximum marks in each subyject 15 100, A student scores 75 percent in
first subject and 65 percent in second subject. If he got 70 percent average score, then how much percentage
did he score in the third subject?

Options:

1. % 70 percent
2. % 75 percent
3. % EE percent
4. % 20 percent

Question Number : 48 Question Id : 99836718150 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25
T wivyT ® 19 ey § qur neder o § aifead e 100 %ﬁm%ﬁﬁwﬁ 75 ﬁmmgﬁ;ﬁwﬁ £5 Ui &l uTH

FEAT 21 Afe, FA T 70 NiTT 27 0Ty 0 5, F7 36 T o Topa= widar aiwr uTe fo
Options:
1. 70 uidea

> ® 7o
I ® 55 uidaT
4 ® 20T

Question Number : 49 Question Id : 99836718151 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25

& wendor purchased some apples and sold 1/ 4th of them at 10 percent loss and remaining at 15 percent
profit. If the total profit earned is s, 2850, then what is the total cost price of apples?

Options:

1. * Rs 50000
2. % Rs 48000
2. % Rs 2000
4. ¥ Rs. 44000

Question Number : 49 Question Id : 99836718151 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25

o T T 39 A @EaT  duT S0 & 1/ 4 W 10 Aided g uF S9aT § a7 39 ® 15 Hidad @ O saT g TG 7w 3850
T T AT BT 5, O el T ol H Gl F2T 27

Options:

1. % 50000 7o
2. % 48000 T
3. % 36000 7O

4. % 44000 T4

Question Number : 50 Question Id : 99836718152 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25
Ifa:b:c=2:3:6 then whatis 23 : Zb: 627
Options:

1. % 4:12: 49

2% 4.3 36



3% 2:8: 2
4 % 1:9:4

Question Number : 50 Question Id : 99836718152 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25

e b:c=2:3:6% 28 5b: 6c FATE?
Options:

1. % 4:12: 4

2. % 4.9 36

I %283

4 % 1:9:4

Question Number : 51 Question Id : 99836718153 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25

Three vears ago the ratio of the ages 4 and BEwas 4 : 5. The ratio of their ages 2 years fromnow will be 6 © 7,
what will be will be the age of E & vears from now?

Options:

1. % 20 vears
2. ¥ 23 years
= % 21 vears
4 % 18 vears

Question Number : 51 Question Id : 99836718153 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25
aﬁqa@fﬁgg T B &1 71 T ST 4 5 oM &7a & T o wene ST S &7 SUTd 6 © 7 5T 8" & 5 o Wad B &1 &g
T BT

Options:

1. % 209d
o ¥ 2z
3 % 219y
4 % 15

Question Number : 52 Question Id : 99836718154 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25

Two niurmbers are in the ratio of 17 : 15, 1/5th of the smaller number is 8 less than the 13rd of the bigger
number. What is the sum of nurmbers?

Options:
1. % 160
2. % 320
3. ¥ 98
4 % 120

Question Number : 52 Question Id : 99836718154 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25
STEEAT 17 - 15 o auTd # g1 1eT A &7 15, el §ear @ 1) 3 ¥ 8 &0 51 Sl &1 = &7 57



Options:
1. % 160
2. % 30
3. ¥ 98
4. % 120

Question Number : 53 Question Id : 99836718155 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25

If the simple interest on a sum of Bs. 2200 for two years is Rs. 960, then what is the rate of interest per
annuin?

Options:

1. % 12 percent
2. % 18 percent
2. % 20 percent
4 % 15 percent

Question Number : 53 Question Id : 99836718155 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25
fey U 3200 F0Z ST TS O S 9T T AR w2 960 T 5, T Wi a9 w4 & I FaT 57

Options:

1. % 12 ufdem
2. % 18 uidea
3. % 20 idea
4. ¥ 15 nideT

Question Number : 54 Question Id : 99836718156 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25

A train crosses two platforms of lengths 2800 mand 500 min 20 seconds and 15 seconds respectively. How
rmach tirme will it take to cross a S80 m long platform?

Options:

1. % 12 seconds
2. % 14 seconds
3. ¥ 16 seconds

4 % 18 seconds

Question Number : 54 Question Id : 99836718156 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25

T TATTE T SO0 W 79T 500 AT Fe & T B A &1 0% T § 20 %0 9907 15 890 @471 81 TF S60 Alet e twehbH &
TR T B T R aae ey

Options:

1. % 12 ¥9ar=
2. % 14 Hgrg
3. ¥ 16 s
4 ® 18 "z




Question Number : 55 Question Id : 99836718157 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25

Pipe & can fill an empty tank in & hours. Fipe B can empty a cornpletely full tank in 10 hours. If both pipes are
opened together, then in how many hours an empty tank can be filled?

Options:
1. % 15/4
2. ¥ 15
3% 20
4 % 16

Question Number : 55 Question Id : 99836718157 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25

TS A T 3 16 UL H T AT 81 ST B UF G R TU ¥ W7 10 e # Wel! 3 g1 81 At ST wgy w7 U @ @ie e
AT, 97 U GIeT 2oF [ drd - He | 98T AT Head T 27

Options:
1. % 15/4
2. ¥ 15
3% 20
4 % 16

Question Number : 56 Question Id : 99836718158 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25

Sorme men can do a work in 40 days. If € more men join thern, then the work will be cormpleted in 25 days.
How many men were there in the begining?

Options:
1. % 14
2. ¥ 10
3% 5
4 % 12

Question Number : 56 Question Id : 99836718158 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25
T el ek 1 w1 40 Tod § @ Jarar 81 i 6 R suih aniie gt =y, 9 @Rk 25 o # @ gt S geernd o e et 9

Options:
1. % 14
2. ¥ 10
3% 8
4 % 12

Question Number : 57 Question Id : 99836718159 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25

If the volume of a cube is 512 cmg, then what is the length of the edge of the cube?
Options:

1. ® 6cm



2 ¥ 5om
3% 10c0m

4 % 120m

Question Number : 57 Question Id : 99836718159 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25
AT o O AT e 512 EA Y & a1 O S e & e g 27

Options:

1. % g#nAr
o ¥ g
3. % 10T
4 % 12 AT

Question Number : 58 Question Id : 99836718160 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25

The circumference of the base of a cylinder is 88 crm. If the height of the cylinder is 10 crn, then what is the
volurne of the cylinder?

Options:

1. % §140 cm®
2. ¥ 6160 cm®
3. % 6180 cm®

4. % 200 cm®

Question Number : 58 Question Id : 99836718160 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25
T &@T o ST &1 Oierer 58 | A/ 31 Iie o= & J=ms 10 FAT 8, 7 &a &7 A2a- 747 57

Options:

1. % g140 #dt°
2. ¢ 6160 &t °
3. % g1g0 &t °

4. % gzop e

Question Number : 59 Question Id : 99836718161 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25



The pie chart given below shows the nurmber of students studying in five institutes. The number of students
studying are shown as the percentage of total number of students studying in these five institutes.

B 24

If the number of students studying in institute & is 400, then what is the total nurmnber of students studying in
these five institute?

Options:

1. % 1000
2. % 500
2% 2000

4 % 1500

Question Number : 59 Question Id : 99836718161 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25

el T T o o W O ST H UG S ST ol ST g T g UG el BT @ ST i 5 Ui ST # ug e 3 g
TTAT T AT F WIGT o &0 § 01 T4 3

B, 24

Tt T & 3 T el g Y et T 400 B, 471 5T Uiy G i Gget aet et g i e &7
Options:

1. % 1000

2. % 500

2% 2000

4 % 1500

Question Number : 60 Question Id : 99836718162 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25



The bar graph given below shows the number of toys rmanufactured by cormpany in a five years.

w - 350 4 Adh
= T 300 4 -
H - 5% 4
P E 250 4 2
-n:u & 200 4 e 14
- 150 150
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= = =
= g 100 4
=1
= 0 |
Z E [} Attty T -

Yl Y2 Y3 Y4 Ys
Year

what is the total number of toys manufactured in the years ¥1, ¥2 and Y57
Options:

1. % 525

2 ¥ B75

3. % 500

4 % B840

Question Number : 60 Question Id : 99836718162 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25
At T T 2rE T § U ST ZRT O a6 | ey T REA T ST o g T )
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Options:
1. % 525
2 ¥ B75
3. % 500
4. % B840
eneral English
Group Number : 4
Group Id : 998367643
Group Maximum Duration : 0

Group Minimum Duration : 0



Revisit allowed for view? : No

Revisit allowed for edit? : No
Break time: 0
Group Marks: 20
Revisit allowed for group Instructions? : Yes
Maximum Instruction Time: 0
Minimum Instruction Time: 0

General English

Section Id : 998367764

Section Number : 1

Section type: Online

Mandatory or Optional: Mandatory

Number of Questions: 16

Number of Questionsto be attempted: 16

Section Marks: 20

Display Number Panel: Yes

Group All Questions: No
Sub-Section Number: 1
Sub-Section 1d: 998367974
Question Shuffling Allowed : Yes

Question Number : 61 Question Id : 99836718163 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25
Find the part of the given sentence that has an error in it If there is no error, choose To error,

The pillar box (1)) 15 nearest (2)) an iy house (31 MNo error (4)
Options:
1.% 1
2. %2
3.9 3
4 % 4

Question Number : 61 Question Id : 99836718163 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25
Find the part of the given sentence that has an error in it. If there is no error, choose ‘No error’.

The pillar bos (1)) 15 nearest (231 an my house (330 Mo error (4)
Options:
1.% 1
2. %2
3. ¥ 3
4 % 4

Question Number : 62 Question Id : 99836718164 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical



Correct Marks: 1 Wrong Marks: 0.25
Find the part of the given sentence that has an error in it If there is no error, choose To error,

The fevw friends (1)) he has are (2)) all very poor (2)/MNo error (4)
Options:
1.%1
E
=%z
4 v 4

Question Number : 62 Question Id : 99836718164 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25
Find the part of the given sentence that has an error in it. If there is no error, choose ‘No error’.

The few friends (1)} he has are (2)[ all very poor (3)/MNo error (4)
Options:
1. %1
E
% 3
4 & 4

Question Number : 63 Question Id : 99836718165 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25
Improve the bracketed part of the sentence.

He who is slow to anger is (best) than the nughty
Options:

1. % good

2. % okay

3. ¥ better

4. % DMNoimprovernent

Question Number : 63 Question Id : 99836718165 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25
[rnprove the bracketed part of the sentence,

He who is slow to anger is (best) than the mighty
Options:

1. % good

2. % okay

3. ¥ Dbetter

4. % IMNoimprovernent

Question Number : 64 Question Id : 99836718166 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25



Improve the bracketed part of the sentence.

The moment (who) is lost is lost for ever.
Options:

1. % which

2. % whose

3. % what

4. % MNoimprovernent

Question Number : 64 Question Id : 99836718166 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25
Improve the bracketed part of the sentence.

The mornent fwho is lost is lost for ever.
Options:

1. % which

2. % whose

3. % what

4. % DMNoimprovernent

Question Number : 65 Question Id : 99836718167 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25
A sentence has been given with a blank to be filled with an appropriate word. Choose the correct alternative,

The fat of the body is fuel laid away
Options:
1. % by
2 ¥ for
2%t

4 % on

Question Number : 65 Question Id : 99836718167 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25
& sentence has been given with a blank to be filled with an appropriate word. Choose the correct alternative.

The fat of the body is fuel laid away ______
Options:
1. % by
2. ¥ for
2% to

4. % on

Question Number : 66 Question Id : 99836718168 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25



The question below consists of a set of labeled parts. Out of the four options given, select the most logical
order of the parts to form a coherent sentence.

F: couple of inches
) SOIME grasses
E:of justa

S: grow to g height

Options:

1. % PQRES
2. % QPRS
= % QS5PR
4 ¥ OSREP

Question Number : 66 Question Id : 99836718168 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25

The question below consists of a set of labeled parts. Out of the four options given, select the most logical
order of the parts to form a coherent sentence.

F: couple of inches
) SOIME grasses
E:of justa

S: grow to g height

Options:

1. % PORS
2. % QPRS
2. % QS5PR
4. ¥ OSRP

Question Number : 67 Question Id : 99836718169 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25
—hoose the word that means the same as the given word.

Intruder
Options:

1. % Clumsy
2. ¥ Invader
2. % Elame

4. % Conternt

Question Number : 67 Question Id : 99836718169 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25
“hoose the word that means the same as the given word.

[ntruder
Options:
1. % Clumsy
Z. ¥ Invader

3. % Blame



4. % Conterit

Question Number : 68 Question Id : 99836718170 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25
Zhoose the word that 15 opposite in meaning to the given word.

Mear
Options:

1. % Enjoy
= % Forceful
3. % Meek

4 % Gernerous

Question Number : 68 Question Id : 99836718170 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25
_hoose the word that is opposite in meaning to the given word.

Mear
Options:

1. % Enjoy
2. % Forceful
2. ® Meelk

4 % Gernerous

Question Number : 69 Question Id : 99836718171 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25

Ir1 the given question, four words are given out of which one word is correctly spelt. Choose the correctly spelt
wiord.

Options:

1. % Ccourrence
= ® OCourence
3. # Ocurrence

4. % Qcrurrance

Question Number : 69 Question Id : 99836718171 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25

In the given question, four words are given out of which one word is correctly spelt. Choose the correctly spelt
word.

Options:
1. % Ocrurrence

2 % QCrurence
= * Qcurrence

4 % Qccurrance

Question Number : 70 Question Id : 99836718172 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical



Correct Marks: 1 Wrong Marks: 0.25

In the given question, four words are given out of which one word is incorrectly spelt. Choose the incorrectly
spelt word.

Options:

1. % Cermetery
2. % fwhile
2% Advice

4 % Embarass

Question Number : 70 Question Id : 99836718172 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25

In the given question, four words are given out of which one word i3 incorrectly spelt. Choose the incorrectly
spelt word.

Options:

1. # Cermetery
2. % Awhile
2% Advice

4. ¥ Embarass

Question Number : 71 Question Id : 99836718173 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25

In the given question, four words are given out of which one word is incorrectly spelt. Choose the incorrectly
spelt word.

Options:

1. # Loose

2. ® OCCasion
3. * Innocuous

4. % Hinderence

Question Number : 71 Question Id : 99836718173 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25

In the given question, four words are given out of which one word is incorrectly spelt. Choose the incorrectly
spelt word.

Options:

1. * Loose

2. % OCcasion
2. % Innocuous

4 % Hinderence

Question Number : 72 Question Id : 99836718174 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25

In the following question, cut of the given four alternatives, select the alternative which best expresses the
meaning of the Idiom Phrase.

Ir1 the nick of tirme
Options:



1. ® Toseize a good oppurtunity
= % Unable to recognize Somecns
3. * Great publicity

4. % Just at the last moment

Question Number : 72 Question Id : 99836718174 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25
In the following question, cut of the given four alternatives, select the alternative which best expresses the
meaning of the Idiom Phrase.

In the nick of time

Options:

1. % Toseize a good oppurtunity
2. % Unable to recognize someons
2. % Great publicity

4. % Just at the last morment

Question Number : 73 Question Id : 99836718175 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25
In the fOllOR-'-.?iﬂg Question, out of the FiveTl four alternatives, select the alternative which best expresses the
ITEanIng of the Idiom Phrase.

To have finger on every pie.

Options:

1. % Useless

Z % Toblunder

2. ¥ Toinvolve oneself in many projects at one time

4. % A compliment

Question Number : 73 Question Id : 99836718175 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25
In the following question, cut of the given four alternatives, select the alternative which best expresses the
meaning of the Idiom Phrase.

To hawve finger on every pie.

Options:

1. % Useless

2. % Toblunder

2. ¥ Toinvolve oneself in many projects at one time

4. % A compliment

Question Number : 74 Question Id : 99836718176 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25
Zhoose the word that can substitute the given sentence.

A& ool or paper written by hand
Options:



1. ¥ Manuscript
= % Pantry

2. * Emigrant
4. % Asvlum

Question Number : 74 Question Id : 99836718176 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25
Choose the word that can substitute the given senterice.

A book or paper writterl by hand
Options:

1. % Manuscript

= ® Pantry

3. % Ermigrant

4 # Asulum

Question Number : 75 Question Id : 99836718177 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25
hoose the word that can substitute the given sentence.

one who 15 neither intelligent nor dull
Options:

1. % Prop

2. ¥ Mediocre

3. % Glossary

4. % Zellar

Question Number : 75 Question Id : 99836718177 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25
Choose the word that can substitute the given sentence.

One who is neither intelligent nor dull
Options:

1. ® Prop

= ¥ Mediocre

2. * Glossary

4. % Cellar

Sub-Section Number: 2
Sub-Section 1d: 998367975
Question Shuffling Allowed : Yes

Question Id : 99836718178 Question Type: COMPREHENSION Sub Question Shuffling Allowed : Yes Group Comprehension
Questions: No

Question Numbers: (76 to 80)



Juestion Label - Comprehension
Read the following information carefully and answer the given questions.

Bevoncé Giselle Knowles-Carter is an American singer-songwriter and actress. A multi-platinurm, Grammy
Awmard-winning recording artist, she is acclaimed for her wocals, wideos, and live concert shows. Born and
raised in Houston, Texas, Beyonce performed in various singing and dancing competitions as a child. She rose
to fame in the late 1990s as the lead singer of the R&E girl-group Destiny's Child. Managed by her father,
Mathew Knowles, the group became one of the best-selling girl groups in history. Their hiatus saw Beyoncs's
theatrical film debut in Austin Powers in Goldmember (2002), and the release of her first solo alburm,
Darngercously in Love (2003).

Dangerously in Love established Beyonce as a 50lo artist worldwide, debuting at number one on the US
Eillboard200 chart and earned her five Gramrmy Awards. The album also featured the Eillboard Hot 100
number-one singles, "Crazy in Love" and "Baby Boy". Following the breakup of Destiny's Child in 2007, she
had released her second solo album, E'Day, which contained her fourth number-one single, "Irreplaceable”, as
well as the top ten singles, "Déja Wu", and "Beautiful Liar". Beyoncé also continued her acting career, with
starring roles in The Pink Panther (2008), Dreamgirls (2008), and Obsessed (2009). Her rrarriage to rapper
Jay-Z and her portrayal of Etta James in Cadillac Records (2008), influenced her third album, [ Am... Sasha
Fierce (2008), which saw the introduction of her alter-ego, Sasha Fierce and earned a record-setting six
Grammy Awards in 2010, including Song of the Year for "Single Ladies (Put a Ring on It)".

Beyoncé took a hiatus from music in 2010 and took over the management of her career; her fourth album, 4
(2011}, was subsequently mellower in tone, exploring 19705 funk, 1920s pop, and 1990s soul. Her critically
acclaimed eponymons alburm, released in 2013 with no prior announcement, was distinguished from previous
releases by its experimental production and exploration of darker themes. Her sixth album, Lemonade (2016),
also received widespread critical acclaim, with many referring to it as her most personal and political work to
date, and subsequently becarme the best-selling album of 2016,

Sub questions

Question Number : 76 Question Id : 99836718179 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25
which of these titles are associated with Beyoncé?

Options:

1. = Actress

2. % American singer-sorngwriter

3. % Both actress and Americarn SiNger-sorg writer

4. % Mo option is correct

Question Number : 77 Question Id : 99836718180 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25
Wwhern was her first solo album released?

Options:

1. % 2002
2. % 2003
= 2007

4. % 2008

Question Number : 78 Question Id : 99836718181 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25
How many Grammy Awards did she win for Dangerously in Love?

Options:
1. %= 4
Z. w3



SR
4 ¥ 5

Question Number : 79 Question Id : 99836718182 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical
Correct Marks: 1 Wrong Marks: 0.25

MName the 2 movies of Beyoncé that were released in the same year.
Options:
1. # The Fink Fanther and Obsessed

2, % Obsessed and Dreamgirls
2. % Drearngirls and The Pink Panther
4, % No option 15 correct

Question Number : 80 Question Id : 99836718183 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25
The word AcClaim is opposite il meaning to

Options:

1. % Lauded
2. % Praised
. * Hailed

4 Disparage

Question Id : 99836718178 Question Type: COMPREHENSION Sub Question Shuffling Allowed : Yes Group Comprehension
Questions: No

Question Numbers: (76 to 80)
Juestion Label - Comprehension

Read the following information carefully and answer the given questions.

Eeyoncs Giselle Knowles-Carter is an American singer-songwriter and actress. A multi-platinurm, Grarmmy
Award-winning recording artist, she is acclaimed for her vocals, videos, and live concert shows. Born and
raised in Houston, Texas, Beyonce performed in various singing and dancing competitions as a child. She rose
to fame in the late 1990s as the lead singer of the R&E girl-group Destiny's Child. Managed by her father,
Mathew Knowles, the group becarme one of the best-selling girl groups in history. Their hiatus saw Beyoncé's
theatrical film debut in Austin Powers in Goldmember (2002), and the release of her first solo albuarm,
Dangerously il Lowve (Z003).

Dangerously in Love established Beyonce as a 50lo artist worldwide, debuting at number one on the 115
Billboard200 chart and earned her five Grammy Awards. The album also featured the Eillboard Hot 100
number-one singles, "Crazy in Love" and "Baby Boy". Following the breakup of Destiny's Child in 2007, she
had released her second solo album, E'Day, which contained her fourth number-one single, "Irreplaceable”, as
well as the top ten singles, "Déja Wu", and "Beautiful Liar". Beyoncé also continued her acting career, with
starring roles in The Pink Panther (z00g), Drearngirls (2006), and Obsessed (2009). Her marriage to rapper
Jay-Z and her portrayal of Etta James in Cadillac Records (2008), influenced her third album, [ Am... Sasha
Fierce (2008), which saw the introduction of her alter-ego, Sasha Fierce and earned a record-setting six
Grammy Awards in 2010, including Song of the Year for "Single Ladies (Put a Ring on It)".

Bevoncé took a hiatus from music in 2010 and took over the management of her career; her fourth album, 4
(2011}, was subsequently mellower in tone, exploring 19705 funk, 19205 pop, and 1990s soul. Her critically
acclaimed eponymous alburm, released in 2013 with no prior announcement, was distinguished from previous
releases by its experimental production and exploration of darker themes. Her sixth album, Lemonade (2016),
also received widespread critical acclaim, with many referring to it as her most personal and political work to
date, and subsequently becarme the best-selling album of 2016

Sub questions

Question Number : 76 Question Id : 99836718179 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical



Correct Marks: 1 Wrong Marks: 0.25
which of these titles are associated with Beyoncé?

Options:

1. # Actress

2. # AMETiCan SiNger-songwriter

2. ¥ Both actress and AMErican Singer-song writer

4. # Mo option 15 correct

Question Number : 77 Question Id : 99836718180 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25
When was her first solo album released?

Options:

1. % 2002
=z ¥ 2003
3. % 2007
4. % 2008

Question Number : 78 Question Id : 99836718181 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25
How many Grammy Awards did she win for Dangerously in Love?

Options:
1.% 4
2 % 3
3% B
4 ¥ 5

Question Number : 79 Question Id : 99836718182 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25
Mame the 2 mowvies of BE}TOHCé that were released in the same vear.

Options:

1. ® The Pink Panther and Obsessed
Z % Obsessed and Drearmngirls

3 ¥ Direarngirls and The Fink Panther

4. % MNo option is correct

Question Number : 80 Question Id : 99836718183 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25
The word AcCClaim 1s Opposite i meaning to

Options:

1. % Lauded
2. % Praised
3. % Hailed

4. % Disparage
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Question Number : 81 Question Id : 99836718184 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25
o # #1991 neag w Ey

Options:
1. % aw
2. ¥ e
3. % T
4. % g

Question Number : 81 Question Id : 99836718184 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25
o # F19 91 e A Ee

Options:
1. % ag
2. ¥ e
3 % amEo
4 % g7



Question Number : 82 Question Id : 99836718185 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25
Ta T e # & TR @ = iR

HIE U Sfa i g
Options:

1. % gigq

2 % T

3. % aRdl

4. v TErEmeft

Question Number : 82 Question Id : 99836718185 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25
Ter i e o & T @ mree e

g e S7dT et 8
Options:

1. % gigq

2 % TE

3. % arET

4. T

Question Number : 83 Question Id : 99836718186 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25
T My et # & 9o0W e 1 T4 ST

Options:
1. % gER
2 ® gy
3. g
4. % gegre

Question Number : 83 Question Id : 99836718186 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25
o Ty et # & goew sTeg w1 =9 diT

Options:
1. % g
2 % FF
3. o gl
4. ® Fegral

Question Number : 84 Question Id : 99836718187 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25

TR H W AT S0 AT 4T deg ST AT 9T 57
Options:

1. % 1y



2 ¥ Oiv
I % oo
4 ® T

Question Number : 84 Question Id : 99836718187 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25
‘TR H W AT S0 AT 4T deg ST AT 9T 57

Options:
1. % 3
2 it
3 % oo
4 % fEr

Question Number : 85 Question Id : 99836718188 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25
g, AT T A i

Options:

1. & SpqEgaT

2. % T

3. % e

4 % AT

Question Number : 85 Question Id : 99836718188 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25
TG, AT T I I

Options:

1. & areqegar

= % ST

3. % aEmaTdr

4 % EqEdar

Question Number : 86 Question Id : 99836718189 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25
T T sreg @ TEE aeg A diR

STRITE
Options:

1. % fgomw
2. ¥ ST
3. ® aOER

4 ® fogmEm

Question Number : 86 Question Id : 99836718189 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25



T T Seg @ T deg AT dhitAw

R
Options:

1. % TEmw
2. ¥ aER
3. SR

4. ¥ fTgEmr

Question Number : 87 Question Id : 99836718190 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25
Tomr T e § ol v & O e

Options:

1. % gi=
e

3. % T
4. ® T

Question Number : 87 Question Id : 99836718190 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25
Tar My e & fol v T T Fm

Options:

1. % =i
2 VTR

3. ® AR
4. ® T

Question Number : 88 Question Id : 99836718191 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25
o T ateg T U TaEE T A e

ey
Options:
1. % OTEqe, W, Jue

2% TEQE, TN, I
I % megy, FdE JuA
4. % TEIC UM, Fode

Question Number : 88 Question Id : 99836718191 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25
T2 T STeg o7 TAI9dE T = @ik

T



Options:
1. % geege, umom, 39

2. ¥ UEqE, U, J0H

= ¥ gy T 3
4. ® yEge U, Fee

Question Number : 89 Question Id : 99836718192 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25
Tau ™y amr W e A9 S

TRT = A T
Options:

1. % 3ITT qF T
2 % amuf qaeTe

3 % oof geTe
4. ¥ HHET YT

Question Number : 89 Question Id : 99836718192 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25
TeTy Iy armeper o0 e ST i

TFAT = &TT2ar T
Options:

1. % Sy gawT
2 % arquf qaerTe

3. % oof qaere
4. & AT @A

Question Number : 90 Question Id : 99836718193 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25
T ™y AT T wH AT ST e

qfere =T BT e §

Options:

1. % gfera & T U1 FaT 3l

2. ¥ OicH & GRT K UHaT T 8l
3 ® giere T TR ® mwe e

4. % et = T T g o

Question Number : 90 Question Id : 99836718193 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25
T2 T 7T T AR A1

iere T T Uwed 5
Options:

1. % gicha ¥ 9 TFaT 14T 8l




2. ¥ OicH & GRT I UHaT AT 8l
3. % gioE = Tk @ uws o
4 % gic| IR BT 51 ThE UTd 2l

Question Number : 91 Question Id : 99836718194 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25
ToT T aTerer # vEeRd T TR WERTE ST AT £ T

T T e w1 ] et T &
Options:

1. ¢ ey

o %z

3. ® AN

4, ® s aE

Question Number : 91 Question Id : 99836718194 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25
ToT T e # YRR T TR T o ST & ST

TGS T 7 475 Y 45 &
Options:

1. ¢ Fogey

o ® gz

3. ® N

4, ¥ st ae

Question Number : 92 Question Id : 99836718195 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25

Tormy Ty arerer T g T A o o g gl ol i g AR R e g i g g
AR & (1) | Wodw B A (2) | SHITHT AT (3) ] e ST g (4)

Options:

1. % 1

2 2

z ® 3

4 % 4

Question Number : 92 Question Id : 99836718195 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25

Teur T ARy T Ay AT AT e SEH F 1 i g i g R ARl g, 9 wE g Rl g g

AR A (1) | wode i 8 (2) | eETHT A (3) | e T g (4)
Options:
1. % 1
o oW
3% 3



4. % 4

Question Number : 93 Question Id : 99836718196 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25

T H FEe o oy T Rt @ v T AT 2 a T FET AT 8
Options:

1. % goar

2. ® e

= % iy

4. ¢ ToRm-Rrg

Question Number : 93 Question Id : 99836718196 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25
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Question Number : 96 Question Id : 99836718200 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25
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Question Number : 101 Question Id : 99836718205 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25
To prepare 100 ml of 2M sodium chloride solution, the weight of sodium chloride needed is:

Options:



. % 58.5gm

Question Number : 101 Question Id : 99836718205 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25
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Options:

, = 0.85 gm
> o 11.7 gm
- » 98.5 gm
4 % 1.17 gm

Question Number : 102 Question Id : 99836718206 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25
Which of the below statements is true with regards to acid base balance?

Options:
, = PH at which acid is fully ionized is pKa.

> u Acids accepts protons.

5  DPH is inversely proportional to the acidity.

, % DBases donate protons.

Question Number : 102 Question Id : 99836718206 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25
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Question Number : 103 Question Id : 99836718207 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25
solution is prepared by continuously dissolving the solute in a solvent until a small amount of crystal is visible
in the solution.
Options:
1 % Percent

> o Saturated
%z % Standard

4 % Normal

Question Number : 103 Question Id : 99836718207 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25
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Question Number : 104 Question Id : 99836718208 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25
The molecular weight of sodium hydroxide is:



Options:
1.« 40

Question Number : 104 Question Id : 99836718208 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes

Single Line Question Option : No Option Orientation : Vertical
Correct Marks: 1 Wrong Marks: 0.25
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Question Number : 105 Question Id : 99836718209 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes

Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25
In respiratory acidosis. the primary change is:

Options:
1 % deficit of carbonic acid
> o excess of carbonic acid

% % deficit of bicarbonate

4 % excess of bicarbonate
Question Number : 105 Question Id : 99836718209 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes

Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25
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Question Number : 106 Question Id : 99836718210 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25
Maltose is a _

Options:
1 # monosaccharide

> « disaccharide
= % tetrasaccharide

4 % Dpolysaccharide

Question Number : 106 Question Id : 99836718210 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25
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Question Number : 107 Question Id : 99836718211 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25
The normal fasting blood glucose range in plasma is:

Options:

. 80-100 mg/dl



90-120 mg/dl

. % 90-140 mg/dl

4 » 100-150 mg/dl

Question Number : 107 Question Id : 99836718211 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25
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Options:

. » 80-100 mg/di

, % 90-120 mg/d|

. % 90-140 mg/d

, % 100-150 mg/dl

Question Number : 108 Question Id : 99836718212 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25
Which of the following is NOT a property of colloids?

Options:
; = They exhibit Brownian movement.

- w They carry either positive or negative charge.

5  They Carry only positive charge.

4 w They exhibit the Tyndall effect.

Question Number : 108 Question Id : 99836718212 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25
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Question Number : 109 Question Id : 99836718213 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25
reveals the mean glucose value over the previous 10-12 weeks.

Options:
; % HbAIlb

> % Myoglobin

z % HbAla

4 « HbAlc

Question Number : 109 Question Id : 99836718213 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25
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Options:

. » HbA1b

o % HAEANST
- » HbAla

. v HbA1lc

Question Number : 110 Question Id : 99836718214 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25
Which of the following is FALSE with respect to the advantages of HbAlc?
Options:

P The test is done only when the patient is in fasting.



 Better index for predicting complications.
» Retlects long term glucose control.

Fasting sample is not required and can be done at any time.

Question Number : 110 Question Id : 99836718214 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25
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Question Number : 111 Question Id : 99836718215 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25
Which of the following is FALSE with regards to bicarbonate buffer system?

Options:
, = Theratio of bicarbonate to carbonic acid at physiological pH is 20 under normal conditions.

-  Theratio of carbonic acid to bicarbonate at physiological pH is 20 under normal conditions.

- » DBicarbonate component is regulated by the kidneys.

, = Carbonic acid component is regulated by respiration.

Question Number : 111 Question Id : 99836718215 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25
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Question Number : 112 Question Id : 99836718216 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25

The plane passing vertically through the midline of the body, dividing the body into right & left halves is called as the
plane.

Options:

1 « median

- % paramedian
= % coronal

4 % frontal

Question Number : 112 Question Id : 99836718216 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25
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Question Number : 113 Question Id : 99836718217 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25
The elbow jointis a joint.

Options:



1 # ball and socket
- % saddle

5 o hinge

4 # Dpivot

Question Number : 113 Question Id : 99836718217 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25
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Question Number : 114 Question Id : 99836718218 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25
The duct of Wirsung is a
Options:

1 % Bile

- % Thoracic

=  Comumon panereatic

4 = Common hepatic

Question Number : 114 Question Id : 99836718218 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25
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Question Number : 115 Question Id : 99836718219 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25
The ninth cranial nerve is a nerve.

Options:
1 % facial

-, » trigeminal

5 = hypoglossal

4 « glossopharyngeal

Question Number : 115 Question Id : 99836718219 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25
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Question Number : 116 Question Id : 99836718220 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25
The left atrioventricular orifice is guarded by the valve.

Options:



, w tricuspid
- % aortic

pulmonary

4 « mitral

Question Number : 116 Question Id : 99836718220 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25
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Question Number : 117 Question Id : 99836718221 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25

Nerve supply for the diaphragm is through the nerve.
Options:

| « DPhrenic

> % pulmonary

5 % Vagus

4 = laryngeal

Question Number : 117 Question Id : 99836718221 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25
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Question Number : 118 Question Id : 99836718222 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 WrongMarks: 0.25
The gate control theory is used to explain about

Options:
1 % muscle contraction

- % urine formation

5  Dain suppression

, = acetylcholine destruction

Question Number : 118 Question Id : 99836718222 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25
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Question Number : 119 Question Id : 99836718223 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25
Vital capacity includes all except:

Options:



1 # tidal volume

- w inspiratory reserve volume

5 « residual volume

4 # ecxpiratory reserve volume

Question Number : 119 Question Id : 99836718223 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25
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Question Number : 120 Question Id : 99836718224 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25
The thyroid stimulating hormone is secreted by

Options:
| = Dosterior pituitary

thyroid gland

P2
b

adrenal gland

4  anterior pituitary

Question Number : 120 Question Id : 99836718224 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25
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Question Number : 121 Question Id : 99836718225 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25

Heart rate beats per minute is called as bradycardia.
Options:

1 « less than 60



> % lessthan 70
%z % more than 80

4 % more than 100

Question Number : 121 Question Id : 99836718225 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25
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Question Number : 122 Question Id ;: 99836718226 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25
The primary visual area in the occipital lobe corresponds to area in the cerebral cortex.

Options:
1 % 41and 42

4.« 17

Question Number : 122 Question Id : 99836718226 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25
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Question Number : 123 Question Id : 99836718227 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25
Which of the following sterilization methods operates by drv heat?

Options:
1 % Autoclave

-~ = [lyndallisation

3 « Hot air oven

4 = Inspissation
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Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25
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Autoclave works at a temperature of:

Options:
1 % Less than 100°C



> o More than 100°C
= # At100°C

4 % Lessthan 50°C
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Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25
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Single Line Question Option : No Option Orientation : Vertical
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Stuart’s medium is a/an media.
Options:

1 % indicator

> % selective

5 w simple

4  transport
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Question Number : 126 Question Id : 99836718230 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25
The sample to be collected in case of staphylococcal meningitis to demonstrate the lesion is

Options:
| % Ssputum

> # urine

5  cerebrospinal fluid

4% PUS
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Widal test is done to demonstrate the antibodies of:
Options:

1 % brucella

> o salmonella

%z % bordetella



4 w mmycoplasma
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Correct Marks: 1 Wrong Marks: 0.25
The BCG vaccine is given for protection from:

Options:
1 « tuberculosis

- w syphilis

= % acute diarrhoeal disease

4 = typhoid
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Question Number : 129 Question Id : 99836718233 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25
The Thayer - Martin selective medium is used in the culture of:

Options:
1 % clostridium

- % bacillus

- % mmycobacterium

4 « neisseria

Question Number : 129 Question Id : 99836718233 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25
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Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25

Identify the bacteria which shows Indole - positive, Urease - negative and Methyl red — positive.
Options:

1 % Proteus mirabilis

- u Klebsiella oxytoca

= « Escherichia coli



4 = Staphylococcus aureus
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Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25
The inoculated culture media is incubated at in an incubator.

Options:
1. ® 30°C
5 o 37°C

3 % 40°C

4 ® 47°C
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, % 30°C

5 % 40°C



4 % 47°C

Question Number : 132 Question Id : 99836718236 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25

The decolourising agent used in gram staining is:
Options:

1 % Gram’s iodine

- % cedar wood oil
= « acetone

4 % Dpotassium iodide

Question Number : 132 Question Id : 99836718236 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical
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Question Number : 133 Question Id : 99836718237 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25
The concentration of agar in semi-solid agar is:

Options:
| % 2-5%
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Correct Marks: 1 Wrong Marks: 0.25
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Options:

% 2-5%

» ¢ 0.2 - 0.5%
2 % 1-2%

4 % 04-0.7%
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Correct Marks: 1 Wrong Marks: 0.25
The anticoagulant of choice for coagulation studies is:

Options:
, ® EDTA

> « sodium citrate
= % double oxalate

4 = heparin
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Single Line Question Option : No Option Orientation : Vertical
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Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25
Hayem’s fluid is used for counting:

Options:
, = Dplatelets

- % Dbasophils

= « red blood cells

4 = neutrophils
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Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25
In staining a peripheral blood smear. a light pink blood smear is caused by:

Options:
1 % overstaining

- » inadequate washing

5 « prolonged washing

4 % dust on slide
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Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25

The disease that causes elevated ESR is:
Options:

1 % sickle cell anemia

- u congestive heart failure

5 = polycythemia

4 « theumatoid arthritis

Question Number : 137 Question Id : 99836718241 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25
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Question Number : 138 Question Id : 99836718242 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical



Correct Marks: 1 Wrong Marks: 0.25
Bleeding time can be estimated by all methods except:

Options:
1 % Duke’s method

> w Ivy’s method

%z « Lee & White method

, = fingertip method
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Urine without preservatives should be examined within hour(s) of voiding.
Options:

1 % four

- % two and a half

3 % three

4 « one
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Question Number : 140 Question Id : 99836718244 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25
proteins are precipitated at lower temperatures. disappear on further heating and reappear on cooling.

Options:
, = Alpha -1 antitrypsin

> o Bence Jones
3z % C-reactive

, = Beta-2 microglobulin
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Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25
Which of the following is true with regards to the Bombay blood group?

Options:
, « Itlacks the H gene

- % The H substance is formed

- » IheH gene is present

i R Individuals have “A’ blood group
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Question Number : 142 Question Id : 99836718246 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25
The normal count of lymphocytes in cerebrospinal fluid is per ml.

Options:
1.« 0-4
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Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25

The leucocyte with a bilobed nucleus. crimson red granular cytoplasm and normal count of 1-6% is:
Options:

. % neutrophil



5 % Imonocyte

5 « ©osinophil

4 = basophil
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Question Number : 144 Question Id : 99836718248 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25
The method that uses acid haematin in measuring haemoglobin is:

Options:
; = cyanmet haemoglobin method

> u oOxyhaemoglobin method

= « Sahli’s method

g % specific gravity method
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Question Number : 145 Question Id : 99836718249 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 WrongMarks: 0.25

Which of the following is true with regards to a Romanowsky stain?
Options:

, « It contains methylene blue and eosin.

> w Methylene blue is an acidic dye & has affinity for basic components.

- u Eosinis a basic dye and has affinity for acidic components.

4 # AlLeishman stain is not included under Romanowsky dyes.
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Correct Marks: 1 Wrong Marks: 0.25
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Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25

The naturally occurring serum antibody in a person with ‘B’ blood group is:
Options:

1 % anti-B



> % anti-O
o o anti-A

4 % anti-A and anti-B
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Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25
X is produced at a constant rate and is freely filtered by kidney glomeruli, X is completely reabsorbed but degraded in

the tubules. The blood level of X does NOT depend on age. sex and muscle mass. There is no tubular secretion of X.
Identify X from among the options given.

Options:

1 % Creatinine

o  Cystatin C
%z % Urc acid

4 % Inulin
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Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25
The test used to check for the presence of all reducing sugars is:

Options:
1 % Bial’s test

> o Benedict’s test
z % Seliwanoff’s test

4 = Foulger’s test
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Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25
Which of the following are the physical characteristics of normal urine?

Options:



Amber colour, mousy odour, pH-4

,_.
4

Amber colour, turbid, pH-8.6
Deep yellow colour, turbid, pH-3.5

i Amber colour, aromatic odour, pH - 6.
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Lloyd’s reagent is used to estimate:

Options:
1 « creatinine

-~ ® urea
5 % uric acid

4 w glucose

Question Number : 150 Question Id : 99836718254 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25
TaE HEAFHF FT FIT & HFA e & forw fasar s g

Options:



o % T HEA

LY 5 5
AR (TehIA)

4 %
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Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25
The electrophoretogram observed in cirrhosis of the liver shows that:
Options:

, = albumin is increased, there is beta-gamma bridging

- » albumin is reduced. beta globulin is reduced

=  Aalbumin is reduced. there is beta-gamma bridging

4, = albumin is increased, beta globulin is increased
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Correct Marks: 1 Wrong Marks: 0.25



The rate at which sedimentation occurs in centrifugation is expressed in terms of:
Options:
1 % sedimentation distance

> % sedimentation force

5 » sedimentation gravity

4 « sedimentation coefficient
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Question Number : 153 Question Id : 99836718257 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25
According to Lambert’s law, the absorbance of a solution is directly proportional to the:

Options:
1 #% concentration of the solution

> % concentration of the solutes
> % concentration of the solvent

4 « thickness of the optical path
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Correct Marks: 1 Wrong Marks: 0.25
Pseudohyperkalemia is caused by:

Options:
1 % renal failure

- « haemolysis from venepuncture

3 % diarrhoea

4 % addison’s disease
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Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25
The enzyme which is used as a marker for muscle disorder is:

Options:



, « lactate dehydrogenase

- % acid phosphatase

- u lipase

4 = myeloperoxidase
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Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25

Which of the following is FALSE with regards to specimen collection for ABG analysis?
Options:

, = Radial and brachial arteries are the preferred vessels

> % Blood from the earlobes is also used as an alternative

5 = Placed in coolant to minimise leucocytes consuming oxygen

4  EDTA s the preferred anticoagulant
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Zak’s ferric chloride method is for determining the concentration of serum

Options:
1 % calcium

-~ « cholesterol
z # BUN

4 % creatinine
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Which of the following formulae is used to calculate low density lipoprotein (LDL)?

Options:



; w LDL = (total cholesterol) + (HDL cholesterol) — (triglyceride/5)

» # LDL = (total cholesterol) — (HDL cholesterol) + (triglyceride/5)

- » LDL = (total cholesterol) + (HDL cholesterol)  (triglyceride/s)

4 « LDL = (total cholesterol) — (HDL cholesterol) — (triglyceride/5)
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A/An microscope is used for the demonstration of birefringence.

Options:
, = Phase contrast

-  Dpolarizing

% % fluorescent

4 # electron
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The step followed by ‘fixation’ in tissue processing is:
Options:

; w Clearing

- % impregnation

- u embedding

4 « dehydration
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An ideal fixative has all the properties EXCEPT:

Options:

, = should be cheap

easily available

3 Zives uneven penetration

should be rapid in action
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Bouin’s fluid composition is:

Options:

, = Dpicric acid. ethanol and acetic acid

-  Dpicric acid. formaldehyde and glacial acetic acid

- % Dpicric acid. glutaraldehyde and nitric acid

4 picric acid. ethanol and nitric acid
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The most commonly used fixative for routine examination is:
Options:

, = glutaraldehyde



> % formic acid
z « formalin

4 % oxalic acid
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Which of the following is a clearing agent in tissue processing?

Options:
1 « Toluene

> % Formalin
%z % Ethanol

4 ® Wax
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Embedding is usually done in:
Options:

1 % benzene

- % chloroform
= % cedar wood oil

4 « molten wax
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Correct Marks: 1 Wrong Marks: 0.25

The microtome used for very hard tissue like the heart, is:
Options:

, = Totary microtome



-  Dbase sledge microtome

- » sliding microtome

4, = rocking microtome
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By staining with haematoxylin and eosin, nuclei will stain in:
Options:

-~ % red
3 « blue

4 w palered
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The stains used to demonstrate fat are:
Options:

1 # Sudan black and Prussian blue

- = Prussian blue and methyl violet

5 » Congo red and oil red O

4 « Sudan black and oil red O
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Correct Marks: 1 Wrong Marks: 0.25
Rapid methods for the staining of a frozen section are:
Options:

, % Haematoxylin - eosin and periodic acid schiff



-  Haematoxylin - eosin and toluidine blue

- » Haematoxylin - eosin and Masson’s trichrome

, = Haematoxylin - eosin & Congo red
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Which of the following is true with regards to dehydration in tissue processing?
Options:
» Xylene is the most commonly used dehydrating fluid.

Do

- = Inthis step, water is absorbed by the tissues.

5 % [Ihis is done after the clearing step.

4 « Itis carried out by using ascending grades of alcohol.
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Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25
gas is used to freeze tissues in freezing microtome.

Options:
1 % Carbon monoxide

> « Carbon dioxide

5 # Nitrogen

Oxygen
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One type of repetitive stress injury which is common among computer users is:
Options:

, = Erb’spalsy



-  carpal tunnel syndrome

5 » facial nerve palsy

4 = cerebral palsy
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A monitor’s refresh rate is measured in:
Options:

1 o hertz

> % Pascal
= % Newton

4 ® Dytes
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The ideal time to start the transfusion of blood is within minutes of issue of the unit from the blood bank.

Options:

e
b
LAy
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In case of adverse reaction during blood transfusion, the first step to be taken is:
Options:

1 # call the doctor

- = collect samples for bacterial culture



- % start intravenous line

4 « discontinue the transfusion
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The temperature for storing whole blood is between:

Options:
{ « 2°C and 6°C

5 % 7°C and 14°C
- % 15°C and 20°C

4 % 12°C and 17°C
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- » 15°C 3y 20°C

4 % 12°C 3ix 17°C
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Which of the following is NOT true with regards to platelet rich plasma?

Options:
; = Infusion should be completed within 20 minutes.

- « It can be stored in the refrigerator.

5 % Platelets once issued. are not taken in the blood bank.

4 % Plasma concentrate should be administered as soon as received.
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Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25
Which clotting factor is rapidly deteriorated if fresh frozen plasma is NOT stored at -20°C?

Options:
1 « Factor VIII

> % Factor VII



=z % Factor VI

4 % Factor'V
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The volume of anticoagulant shall be in the ratio of to the volume of blood collected for adequate

anticoagulation.

Options:
1 ® B

'

%
=t
|
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Question Number : 180 Question Id : 99836718284 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25
Which of the following is NOT a criterion for blood donor selection?
Options:

, » The minimum haemoglobin level should be 12 g/dl.

-~ % [Ihe donor should be in good mental health on the day of donation.

- » Ihe donor should have a normal body temperature on the day of donation.

4  Theminimum acceptable body weight shall be 30 kg for 350ml of blood collection.
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The usual lower age limit for blood donation is:

Options:
] ® 16 vears

5 % 17 years

5 o 18 vears

4 % 19 years
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Question Number : 182 Question Id : 99836718286 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25
A person suffering from which of the following conditions should be permanently deferred from donating blood?

Options:
; w» Cystitis

-  Hyperthyroidism
= ® Fever

4 % Bronchitis

Question Number : 182 Question Id : 99836718286 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25
sa8 ¥ Fn g @ Oftg =ofFT & e ¥ ¥ a9 ¥ B9 @ afge?

Options:

, FERm-ey (fawersfen)

1.

L HIETHRE (FRIUEUsEeA)

5 % T

.« EEA-ATY (deEien)

Question Number : 183 Question Id : 99836718287 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25
For blood donation, the arbitrary acceptable limits of a systolic blood pressure of is acceptable

Options:
100 - 150 mm Hg

.-

5 % 100 - 160 mm Hg

5 % 100 - 170 mm Hg



4 100 - 140 mm Hg
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A person with history of jaundice is accepted to donate blood after months of complete recovery.

Options:
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Question Number : 185 Question Id : 99836718289 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25
In limb leads. the electrodes are attached to which of the three limbs in a human body?

Options:
, = Right arm, left arm and right foot

- u Right foot, left arm and left foot

5 o Right arm. left arm and left foot

, = Right foot, right arm and left foot
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Correct Marks: 1 Wrong Marks: 0.25
The interval between the J point and the end of the T wave is:

Options:
; = QT interval
> o ST interval

=z % PP interval

4 % PR interval
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ECG stands for:

Options:

; = electrophoretogram

-, u electroencephalogram

- » electromyogram

4  electrocardiogram
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Question Number : 188 Question Id : 99836718292 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25
Lead I is placed between the:
Options:

, « rightarm and left arm

- u rightarm and left leg

5 right arm and right leg

4, = rightlegand left leg

Question Number : 188 Question Id : 99836718292 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25
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Question Number : 189 Question Id : 99836718293 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25
The unipolar chest lead V1 is placed in the intercostal space.

Options:
1 % left fourth

> % left fifth

5  right fourth

4 = rightsixth

Question Number : 189 Question Id : 99836718293 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical



Correct Marks: 1 Wrong Marks: 0.25
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Question Number : 190 Question Id : 99836718294 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25
lead is a special bipolar chest lead used for recording ECG in atrial arrhythmia.

Options:
; % Cushing

> o Lewis
= % Newton

4 % Frank

Question Number : 190 Question Id : 99836718294 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25
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Question Number : 191 Question Id : 99836718295 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25
Which of the following ECG segments represents ventricular depolarization and ventricular repolarisation?

Options:
1 % ST interval

> = QRS interval

=z % PR interval

4 « QT interval

Question Number : 191 Question Id : 99836718295 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25
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Question Number : 192 Question Id : 99836718296 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25
ST segment elevation is seen in:

Options:
| « acute myocardial infarction

-, u cardiomyopathy

- # hypercalcemia

4 % rtheumatic carditis



Question Number : 192 Question Id : 99836718296 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25
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Question Number : 193 Question Id ;: 99836718297 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25
The chest lead which is placed in the left fifth intercostal space on the midaxillary line is:

Options:
1 % V4

Question Number : 193 Question Id : 99836718297 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25
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Question Number : 194 Question Id : 99836718298 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25
Ventricular repolarisation is represented in ECG by:

Options:
1. % Pwave

> o T wave
5 » QRS complex

4 % U wave

Question Number : 194 Question Id : 99836718298 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25
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Question Number : 195 Question Id : 99836718299 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25

The laboratory should conduct periodic evaluation of staff at least once in:
Options:

; % twoyears

-, u three years

5 u fouryears

4  ayear

Question Number : 195 Question Id : 99836718299 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25
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Question Number : 196 Question Id : 99836718300 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25
Which of the following is FALSE with regards to the handling of reagents in a laboratory?
Options:

, « Newly purchased reagents need not be validated against suitable reference material prior to use.

- » Reagents should be kept in appropriate temperature.

- » Reagent labels should contain the date of opening the reagent. the date of expiry and warnings.

, w In-house prepared reagents should be checked periodically for stability.

Question Number : 196 Question Id : 99836718300 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25
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Question Number : 197 Question Id : 99836718301 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25



Which of the following is NOT a pre-analytical variable affecting a test report?
Options:
1 # Incorrect vacutainer

-  Report not legible

- % Inadequate volume

4 = Wrong patient identification

Question Number : 197 Question Id : 99836718301 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25
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Question Number : 198 Question Id : 99836718302 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25

Which of the following is NOT a safety measure to be taken in a laboratory?
Options:

; = Dispose all sharp equipment appropriately.

- u All patient specimens should be treated as potentially hazardous.

- # Minimise spills and spatters.

4 « Mouth pipetting can be performed while using infectious materials.

Question Number : 198 Question Id : 99836718302 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25
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Question Number : 199 Question Id : 99836718303 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25
Which of the following Westgard rules is a warning while performing quality control?

Options:

Question Number : 199 Question Id : 99836718303 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25
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Question Number : 200 Question Id : 99836718304 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25



The closeness of agreement of mean value with true value is called:
Options:
, w Drecision

- % accuracy

2 « ftrueness

4 % bias

Question Number : 200 Question Id : 99836718304 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25
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